
Roll No.----------------------  

  

 
 
 

B.Sc.-Part-I (Second Semester) Examination, July-2022 

B030201T 
Mathematics 

(Matrices and Differential Equations & Geometry) 
Time : 1:30 Hours  Maximum Marks-100 

 
funsZ’k % & 1. ijh{kkFkhZ vius vuqØekad] fo”k; ,oa Á’uiqfLrdk dh lhjht dk fooj.k ;FkkLFkku lgh& lgh Hkjsa] 
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lgh gSA ftl mRrj dks vki lgh ;k lcls mfpr le>rs gSa] vius mRrj i=d (O.M.R. 

ANSWER SHEET) esa mlds v{kj okys oR̀r dks dkys ;k uhys cky IokabV isu ls iwjk Hkj nsaA 

;fn fdlh ijh{kkFkhZ }kjk fdlh iz’u dk ,d ls vf/kd mŸkj fn;k tkrk gS] rks mls xyr mŸkj ekuk 
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gh ijh{kk d{k ls ÁLFkku djsaA 
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1.                                                        
Matrix ൥

   0    6 7
−6    0 8
−7 −8 0

൩ is : 

(A)   Symmetric 

(B) Skew-symmetric 

(C) Unitary  

(D) Orthogonal 

 1. 
vkO;wg ൥

   0    6 7
−6    0 8
−7 −8 0

൩ bl % 

(A) lefer 

(B) frjNk lefer 

(C) veyh 

(D) ledks.k 

2. The diagonal elements of a Skew-

Hermitian matrix must be :  

(A)   Zero or real 

(B) Zero or imaginary 

(C) Zero 

(D) None of these 

 2. fo”ke gfeZVh;u vkO;wg ds fod.kZ rRo gksuk 

pkfg, % 

(A) ‘kwU; ;k okLrfod 

(B) ‘kwU; ;k dkYifud 

(C) ‘kwU; 

(D) buesa ls dksbZ ugha 

3. If A is a non-singular matrix then 

(Aିଵ)ିଵ is :  

(A)   I 

(B) Aିଵ 

(C) A 

(D) AAିଵ   

 3. ;fn A ,d O;qRØe.kh; vkO;wg gS rc 

(Aିଵ)ିଵ bl %  

(A)   I 

(B) Aିଵ 

(C) A 

(D) AAିଵ 

4. If A is a square matrix, then A +

Aᇱ is :  

(A)   Unit matrix 

(B) Null matrix 

(C) Symmetric matrix 

(D) None of these 

 4. ;fn A ,d oxZ vkO;wg gS rc A + Aᇱ gS % 

(A) bdkbZ vkO;wg 

(B) v’kDr vkO;wg 

(C) lefer vkO;wg 

(D) buesa ls dksbZ ugha 
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5. The inverse of an elementary 

matrix is any :  

(A)   Matrix 

(B) Zero matrix 

(C) Elementary matrix 

(D) None of these 

 5. izkFkfed vkO;wg dk mYVk D;k gksxk % 

(A) vkO;wg 

(B) ‘kwU; vkO;wg 

(C) izkFkfed vkO;wg 

(D) buesa ls dksbZ ugha 

6. The value of K when the matrix 

ቂ2 K
3 5ቃ does not have an inverse 

is:  
(A)   2 
(B) 5 

(C) ଵ଴
ଷ

  

(D) ଷ
ଵ଴

   

 6. K dk eku tc vkO;wg ቂ2 K
3 5ቃ dk mYVk 

ugha gS % 

(A)   2 

(B) 5 

(C) ଵ଴
ଷ

  

(D) ଷ
ଵ଴

 

7. Which is non-singular matrix ?  

(A)   ቂ2 3
2 3ቃ 

(B) ቂ1 0
0 1ቃ 

(C) ቂsin α cos α
0 0 ቃ  

(D) ቂ1 2 3
2 3 4ቃ    

 7. dkSu lh O;qRØe.kh; vkO;wg gS \ 

(A)   ቂ2 3
2 3ቃ 

(B) ቂ1 0
0 1ቃ 

(C) ቂsin α cos α
0 0 ቃ  

(D) ቂ1 2 3
2 3 4ቃ 

8. 
If A = ൥

1 2 3
2 3 4
3 4 5

൩, then rank (A) 

is:  

(A)   1 

(B) 2 

(C) 0  

(D) 3   

 8. 

 

 

;fn A = ൥
1 2 3
2 3 4
3 4 5

൩] rc jSad (A) bl % 

(A)   1 

(B) 2 

(C) 0  

(D) 3 
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9. 
If  A = ൥

   1 2 0
   1 1 0
−1 4 0

൩ and B =

൥
0 0 0
0 0 0
1 4 9

൩ then rank (AB) is : 

(A)   0 

(B) 1 

(C) 2  

(D) 3   

 9. 
;fn A = ൥

   1 2 0
   1 1 0
−1 4 0

൩ vkSj B =

൥
0 0 0
0 0 0
1 4 9

൩ rc jSad (AB) bl % 

(A)   0 

(B) 1 

(C) 2  

(D) 3 

10. If A is a non-singular matrix of 

order n, then the rank of A is :  

(A)   1 

(B) 0 

(C) n  

(D) nଶ   

 10. ;fn A ,d O;qRØe.kh; vkO;wg gS ftldk 

Øe n gS] rc jSad (A) gksxk % 

(A)   1 

(B) 0 

(C) n  

(D) nଶ 

11. Set of vectors {(1, 2, 1), (3, 1, 5), 

(3, −4, 7)} is :  

(A)   Linearly independent 

(B) Linearly dependent 

(C) Basis of R 

(D) None of these 

 11. oSDVj dk lsV {(1, 2, 1), (3, 1, 5), 

(3, −4, 7)} gksxk % 

(A) jSf[kd :i ls Lora= 

(B) jSf[kd :i ls vkfJr 

(C) R dk vk/kkj  

(D) buesa ls dksbZ ugha 



Series-A B.Sc. – B030201T / K-253 Page - 6 

12. The rank of the matrix 

൥
2 −1    3 1
1    4 −2 1
5    2    4 3

൩ is :  

(A)   1 

(B) 2 

(C) 3  

(D) 4   

 12. nh xbZ vkO;wg dk jSad D;k gksxk 

൥
2 −1    3 1
1    4 −2 1
5    2    4 3

൩ : 

(A)   1 

(B) 2 

(C) 3  

(D) 4 

13. The equations x + y + z = 6, x −

y + z = 2, 2x + y − z = 1 have 

the solution :  

(A)   x = 1, y = 1, z = 4 

(B) x = 1, y = 3, z = 2 

(C) x = 2, y = 1, z = 3 

(D) x = 1, y = 2, z = 3 

 13. nh xbZ lehdj.k x + y + z = 6, x −

y + z = 2, 2x + y − z = 1 dk mik; % 

(A)   x = 1, y = 1, z = 4 

(B) x = 1, y = 3, z = 2 

(C) x = 2, y = 1, z = 3 

(D) x = 1, y = 2, z = 3 

14. The equations x + y + z = 3; x +

2y + 3z = 4; 2x + 3y + 4z = 7 

have the solution :  

(A)   x = 2, y = 1, z = 1 

(B) x = 1, y = 2, z = 1 

(C) x = 3, y = −1, z = 1  

(D) x = 2, y = 0, z = 3   

 14. nh xbZ lehdj.k x + y + z = 3; x +

2y + 3z = 4; 2x + 3y + 4z = 7 dk 

mik; % 

(A)   x = 2, y = 1, z = 1 

(B) x = 1, y = 2, z = 1 

(C) x = 3, y = −1, z = 1  

(D) x = 2, y = 0, z = 3 
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15. The eigen values of the matrix  

A = ൥
a h g
0 b 0
0 0 c

൩ are :  

(A)   a, b, c 

(B) a, g, h 

(C) a, g, b  

(D) None of these 

 15. nh xbZ vkO;wg ds bZftu ewY; A =

൥
a h g
0 b 0
0 0 c

൩ gksaxs % 

(A)   a, b, c 

(B) a, g, h 

(C) a, g, b 

(D) buesa ls dksbZ ugha 

16. At least one characteristic root of 
every singular matrix is :  
(A)   1 
(B) -1 
(C) 0 
(D) None of these  

 16. de ls de ,d fo’ks”krk tM+ gj 

vO;qRØe.kh; vkO;wg dk gS % 

(A)   1 
(B) -1 
(C) 0 
(D) buesa ls dksbZ ugha 

17. If λ is an eigen vector of the non-

singular matrix A, then an eigen 

value of Aିଵ is :  

(A)   λ 

(B) λ − 2 

(C) λିଵ 

(D) None of these  

 17. ;fn λ ,d vkbxsu osDVj gS fdlh 

O;qRØe.kh; vkO;wg A dk] rc vkbxsu oSY;w 

Aିଵ dk gksxk % 

(A)   λ 
(B) λ − 2 
(C) λିଵ 

(D) buesa ls dksbZ ugha 

18. The characteristic roots of a 
Hermitian matrix are :  
(A)   All real 
(B) All imaginary 
(C) Some real and some 

imaginary 
(D) None of these 

 18. gfeZfV;u vkO;wg ds fo’ks”krk tM+s gksxh % 

(A) lc okLrfod 

(B) lc dkYifud 

(C) dqN okLrfod vkSj dqN dkYifud 

(D) buesa ls dksbZ ugha 
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19. The eigen values of the matrix 

൥
1 −1 −1
1 −1    0
1    0 −1

൩ are :   

(A)   1, –1, i   

(B) –1, i, –1 

(C) –1, i, 1  

(D) 1, –1, –i  

 19. nh xbZ vkO;wg dk vkbxsu oSY;w 

൥
1 −1 −1
1 −1    0
1    0 −1

൩ gksxk % 

(A)   1, –1, i   

(B) –1, i, –1 

(C) –1, i, 1  

(D) 1, –1, –i 

20. Characteristic roots of the matrix 

൥
   6 −2    2
−2    3 −1
   2 −1    3

൩ are :  

(A)   2, 2, 8 

(B) 2, 2, –2 

(C) –2, 4, 2  

(D) 2, 8, 8   

 20. nh xbZ vkO;wg ds fo’ks”krk tM+s  

൥
   6 −2    2
−2    3 −1
   2 −1    3

൩ gksxh % 

(A)   2, 2, 8 

(B) 2, 2, –2 

(C) –2, 4, 2  

(D) 2, 8, 8 

21. If 2 + 3i = r(cos θ + i sin θ), 

then:  

(A)   θ = cosିଵ ଶ
ଷ
 

(B) θ = cosିଵ √ଷ
ଶ

 

(C) θ = tanିଵ ଷ
ଶ
 

(D) θ = sinିଵ ଷ
ଶ
  

 21. ;fn 2 + 3i = r(cos θ + i sin θ)] rc % 

(A)   θ = cosିଵ ଶ
ଷ
 

(B) θ = cosିଵ √ଷ
ଶ

 

(C) θ = tanିଵ ଷ
ଶ
 

(D) θ = sinିଵ ଷ
ଶ
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22. In the form of series, the value of 

cos α is :  

(A)   α − ஑య

ଷ!
+ ஑ఱ

ହ!
− ஑ళ

଻!
+.............. 

(B) α + ஑య

ଷ!
+ ஑ఱ

ହ!
+ ஑ళ

଻!
+.............. 

(C) 1 − ஑మ

ଶ!
+ ஑ర

ସ!
+..............  

(D) None of these   

 22. nh xbZ lhjht esa] cos α dk eku gksxk % 

(A)   α − ஑య

ଷ!
+ ஑ఱ

ହ!
− ஑ళ

଻!
+.............. 

(B) α + ஑య

ଷ!
+ ஑ఱ

ହ!
+ ஑ళ

଻!
+.............. 

(C) 1 − ஑మ

ଶ!
+ ஑ర

ସ!
+.............. 

(D) buesa ls dksbZ ugha 

23. The value of (cos θ + i sin θ)୬ is 

equal to :  

(A)   cos nθ + i sin nθ 

(B) cos nθ − i sin nθ 

(C) cos nθ  

(D) sin nθ 

 23. (cos θ + i sin θ)୬ dk eku cjkcj gS % 

(A)   cos nθ + i sin nθ 

(B) cos nθ − i sin nθ 

(C) cos nθ  

(D) sin nθ 

24. If 1 + i = r(cos θ + i sin θ), then:  

(A)   θ = ஠
ଶ

, r = 1 

(B) θ = ஠
ଷ

, r = 2 

(C) θ = ஠
ସ

, r = √2  

(D) θ = ஠
଺

, r = √2 

 24. ;fn 1 + i = r(cos θ + i sin θ)] rc % 

(A)   θ = ஠
ଶ

, r = 1 

(B) θ = ஠
ଷ

, r = 2 

(C) θ = ஠
ସ

, r = √2  

(D) θ = ஠
଺

, r = √2 

25. Real part of sin (α + iβ) is :  

(A)   cos α sin h  β 

(B) sin α  cos h  β 

(C) cos α  cos h  β 

(D) sin α  sin h  β 

 25. sin (α + iβ) dk okLrfod Hkkx gksxk % 

(A)   cos α  sin h  β 

(B) sin α  cos h  β 

(C) cos α  cos h  β 

(D) sin α  sin h  β 
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26. Value of cos hିଵ x is :  

(A)   log ൛x − √xଶ + 1ൟ 

(B) log ൛x + √xଶ + 1ൟ 

(C) log ൛x − √xଶ − 1ൟ  

(D) None of these  

 26. cos hିଵ x dk eku gksxk % 

(A)   log ൛x − √xଶ + 1ൟ 

(B) log ൛x + √xଶ + 1ൟ 

(C) log ൛x − √xଶ − 1ൟ 

(D) buesa ls dksbZ ugha 

27. Value of sinିଵ(x + iy) is :  

(A)   nπ + sinିଵ(x + iy) 

(B) nπ + (−1)୬ sinିଵ(x + iy) 

(C) 2nπ ± sinିଵ(x + iy)  

(D) None of these  

 27. sinିଵ(x + iy) dk eku gksxk % 

(A)   nπ + sinିଵ(x + iy) 

(B) nπ + (−1)୬ sinିଵ(x + iy) 

(C) 2nπ ± sinିଵ(x + iy) 

(D) buesa ls dksbZ ugha 

28. The expansion of cos h  x is :  

(A)   1 + x + ୶మ

ଶ!
+ ୶య

ଷ!
+..............    

(B) x + ୶య

ଷ!
+ ୶ఱ

ହ!
+.............. 

(C) 1 − ୶మ

ଶ!
+ ୶ర

ସ!
−..............  

(D) 1 + ୶మ

ଶ!
+ ୶ర

ସ!
+..............   

 28. cos h  x dk foLrkj gksxk % 

(A)   1 + x + ୶మ

ଶ!
+ ୶య

ଷ!
+..............    

(B) x + ୶య

ଷ!
+ ୶ఱ

ହ!
+.............. 

(C) 1 − ୶మ

ଶ!
+ ୶ర

ସ!
−..............  

(D) 1 + ୶మ

ଶ!
+ ୶ర

ସ!
+.............. 

29. e୧஘ = ? 

(A)   cos θ + sin θ   

(B) cos θ − i sin θ 

(C) cos θ − sin θ  

(D) cos θ + i sin θ  

 29. e୧஘ = ? 

(A)   cos θ + sin θ   

(B) cos θ − i sin θ 

(C) cos θ − sin θ  

(D) cos θ + i sin θ 
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30. The value of cos h  2θ is :  

(A)   1 − 2 cos hଶ θ 

(B) 1 + 2 cos hଶ θ 

(C) 1 + 2 sin hଶ θ 

(D) 1 − 2 sin hଶ θ 

 30. cos h  2θ dk eku gksxk % 

(A)   1 − 2 cos hଶ θ 

(B) 1 + 2 cos hଶ θ 

(C) 1 + 2 sin hଶ θ 

(D) 1 − 2 sin hଶ θ 

31. The value of log iβ is :  

(A)   ଵ
ଶ

log βଶ 

(B) ଵ
ଶ

logඥβ 

(C) logୣ β + i ቀ2n + ଵ
ଶ
ቁ π  

(D) None of these 

 31. log iβ dk eku gksxk % 

(A)   ଵ
ଶ

log βଶ 

(B) ଵ
ଶ

logඥβ 

(C) logୣ β + i ቀ2n + ଵ
ଶ
ቁπ 

(D) buesa ls dksbZ ugha 

32. The principal value of log √−1 is :  

(A)   ஠
ଶ

i 

(B) ஠
ଷ

i 

(C) ஠
ସ

i  

(D) None of these   

 32. log√−1 dk ewy eku gksxk % 

(A)   ஠
ଶ

i 

(B) ஠
ଷ

i 

(C) ஠
ସ

i 

(D) buesa ls dksbZ ugha 

33. The value of logୣ−3 is :  

(A)   logୣ 3 + iπ   

(B) logୣ 3 

(C) logୣ 2 

(D) None of these   

 33. logୣ−3 dk eku gksxk % 

(A)   logୣ 3 + iπ   

(B) logୣ 3 

(C) logୣ 2 

(D) buesa ls dksbZ ugha 
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34. The principal value of log(α + iβ) 

is :  

(A)   ଵ
ଶ

logඥ(αଶ + βଶ) + i(2nπ +

tanିଵ ஒ
஑

)   

(B) logඥ(αଶ + βଶ) + i tanିଵ ஒ
஑

   

(C) ଵ
ଶ

log(αଶ + βଶ)  

(D) None of these   

 34. log(α + iβ) dk ewy eku gksxk % 

(A)   ଵ
ଶ

logඥ(αଶ + βଶ) + i(2nπ +

tanିଵ ஒ
஑

)   

(B) logඥ(αଶ + βଶ) + i tanିଵ ஒ
஑

   

(C) ଵ
ଶ

log(αଶ + βଶ) 

(D) buesa ls dksbZ ugha 

35. Which of the following differential 

equations is linear ?  

(A)   ୢ୷
ୢ୶

+ xଶy = sin y 

(B) ୢ୷
ୢ୶
− xଶy = sin y 

(C) (1 + y) ୢ୷
ୢ୶

+ sin x = 0  

(D) ୢ୷
ୢ୶

+ y(y + x) = xଶ  

 35. fuEu foHksnd lehdj.k esa dkSu lk jSf[kd 

gS\ 

(A)   ୢ୷
ୢ୶

+ xଶy = sin y 

(B) ୢ୷
ୢ୶
− xଶy = sin y 

(C) (1 + y) ୢ୷
ୢ୶

+ sin x = 0  

(D) ୢ୷
ୢ୶

+ y(y + x) = xଶ 

36. Integrating factor of the equation 

(1 + xଶ) ୢ୷
ୢ୶

+ 2xy = cos x is :  

(A)   tanିଵ x 

(B) ଵ
ଵା୶మ

 

(C) 1 + xଶ  

(D) tanିଵ ଵ
୶
   

 36. nh xbZ lehdj.k (1 + xଶ) ୢ୷
ୢ୶

+ 2xy =

cos x dk ,dhÑr dkjd gksxk % 

(A)   tanିଵ x 

(B) ଵ
ଵା୶మ

 

(C) 1 + xଶ  

(D) tanିଵ ଵ
୶
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37. If the differential equation xଶ ୢ
య୷

ୢ୶య
+

(1 + xଶ) ቀୢ୷
ୢ୶
ቁ
ଶ

+ y = x has order 

m and degree n, then : 

(A)   m=1, n=2 

(B) m=2, n=1 

(C) m=3, n=1 

(D) m=1, n=3 

 37. ;fn foHksnd lehdj.k xଶ ୢ
య୷

ୢ୶య
+

(1 + xଶ) ቀୢ୷
ୢ୶
ቁ
ଶ

+ y = x dk Øe m vkSj 

fMxzh n gSa] rc % 

(A)   m=1, n=2 

(B) m=2, n=1 

(C) m=3, n=1 

(D) m=1, n=3 

38. General solution of differential 
equation y dx − x dy = 0 is:  

(A)   ୷
୶

= c 

(B) xy = c 
(C) x − y = c 
(D) xଶ − yଶ = c 

 38. nh xbZ foHksnd lehdj.k y dx − x dy =

0 dk lkekU; lek/kku gksxk % 

(A)   ୷
୶

= c 

(B) xy = c 
(C) x − y = c 
(D) xଶ − yଶ = c 

39. General solution of differential 

equation ୢ୷
ୢ୶

= ୷
୶

, (x, y > 0) is :  

(A)   y = x + c 

(B) y = ଵ
୶
 

(C) y = cx 
(D) y = x  

 39. nh xbZ foHksnd lehdj.k ୢ୷
ୢ୶

= ୷
୶

, (x, y >

0) dk lkekU; lek/kku gksxk % 

(A)   y = x + c 

(B) y = ଵ
୶
 

(C) y = cx 
(D) y = x 

40. General solution of differential 

equation ୶ ୢ୶ା୷ ୢ୷
୶మା୷మ

= 0 is :  

(A)   x + y = eୡ 

(B) xଶ + yଶ = eୡ 

(C) xy = eୡ 

(D) None of these   

 40. nh xbZ foHksnd lehdj.k  

dk lkekU; lek/kku gksxk % 
x dx + y dy

xଶ + yଶ = 0 

(A)   x + y = eୡ 
(B) xଶ + yଶ = eୡ 
(C) xy = eୡ 
(D) buesa ls dksbZ ugha 
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41. The condition that the differential 

equation M dx + N dy = 0 is exact 

is :  

(A)   ப୑
ப୷

= ப୒
ப୶

 

(B) ப୑
ப୶

= ப୒
ப୷

 

(C) ப୑
ப୶

= 2 ப୒
ப୷

  

(D) 2 ப୑
ப୷

= ப୒
ப୶

  

 41. fuEufyf[kr foHksnd lehdj.k dh ,dne 

lgh gkssus dh fLFkfr gksxh %  

M dx + N dy = 0 

(A)   ப୑
ப୷

= ப୒
ப୶

 

(B) ப୑
ப୶

= ப୒
ப୷

 

(C) ப୑
ப୶

= 2 ப୒
ப୷

  

(D) 2 ப୑
ப୷

= ப୒
ப୶

 

42. If ଵ
୑
ቀப୒
ப୶
− ப୑

ப୷
ቁ = f(y), then 

integrating factor is :  

(A)   eି∫ ୤(୷)ୢ୷ 

(B) e∫ ୤(୷)ୢ୷ 

(C) f(y) e∫ ୤(୷)ୢ୷  

(D) ∫ e୤(୷)f(y)dy   

 42. ;fn ଵ
୑
ቀப୒
ப୶
− ப୑

ப୷
ቁ = f(y)] rc ,dhÑr 

dkjd gksxk % 

(A)   eି∫ ୤(୷)ୢ୷ 

(B) e∫ ୤(୷)ୢ୷ 

(C) f(y) e∫ ୤(୷)ୢ୷  

(D) ∫ e୤(୷)f(y)dy 

43. The order of the differential 

equation ୢ
య୷

ୢ୶య
− 2 ୢమ୷

ୢ୶మ
+ 3 ୢ୷

ୢ୶
+ 2y = 0 

is :  

(A)   3 

(B) 6 

(C) 4  

(D) 2   

 43. nh xbZ foHksnd lehdj.k dk Øe ୢయ୷
ୢ୶య

−

2 ୢమ୷
ୢ୶మ

+ 3 ୢ୷
ୢ୶

+ 2y = 0 gksxk % 

(A)   3 

(B) 6 

(C) 4  

(D) 2 
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44. The integrating factor of the 

differential equation cosଶ x ୢ୷
ୢ୶

+

y = tan x is : 

(A)   secଶ x 

(B) cosଶ x 

(C) tan x  

(D) e୲ୟ୬୶   

 44. nh xbZ foHksnd lehdj.k dk ,dhÑr dkjd  

cosଶ x ୢ୷
ୢ୶

+ y = tan x gksxk % 

(A)   secଶ x 

(B) cosଶ x 

(C) tan x  

(D) e୲ୟ୬୶ 

45. The integrating factor of the ୢ୷
ୢ୶

+

ଵ
୶

y = xଶy଺ is :   

(A)   ଵ
୶ఱ

+ 2 

(B) ଵ
୶ఱ

 

(C) ଵ
୶

+ 1 

(D) x + 1   

 45. nh xbZ lehdj.k ୢ୷
ୢ୶

+ ଵ
୶

y = xଶy଺ dk 

,dhÑr dkjd gksxk % 

(A)   ଵ
୶ఱ

+ 2 

(B) ଵ
୶ఱ

 

(C) ଵ
୶

+ 1 

(D) x + 1 

46. The integrating factor of the x ୢ୷
ୢ୶

+

y = yଶ log x is :  

(A)   ଵ
୶
 

(B) x + 1 

(C) ଵ
୶

+ 1 

(D) ଵ
୶మ

 

 46. nh xbZ lehdj.k x ୢ୷
ୢ୶

+ y = yଶ log x dk 

,dhÑr dkjd gksxk % 

(A)   ଵ
୶
 

(B) x + 1 

(C) ଵ
୶

+ 1 

(D) ଵ
୶మ
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47. The integrating factor of ୢ୷
ୢ୶

+ ଵ
୶

=

ୣ౯

୶
 is :  

(A)   ଵ
୶ర

 

(B) ଵ
୶య

 

(C) ଵ
୶మ

 

(D) ଵ
୶
   

 47. nh xbZ lehdj.k  ୢ୷
ୢ୶

+ ଵ
୶

= ୣ౯

୶
 dk ,dhÑr 

dkjd gksxk % 

(A)   ଵ
୶ర

 

(B) ଵ
୶య

 

(C) ଵ
୶మ

 

(D) ଵ
୶
 

48. Which of the following equations 
is exact ?  
(A)   (4x + 3y + 1)dx + (3x + 2y 

+1)dy = 0 
(B) (4x + 4y + 1)dx + (3x + 2y 

+10)dy = 0 
(C) (4x + 5y + 1)dx + (3x + 2y 

+1)dy = 0  
(D) (4x + 5y + 1)dx + (3x + 5y 

+10)dy = 0   

 48. fuEufyf[kr lehdj.k esa ls dkSu lh ,dne 

lgh gS \ 

(A)   (4x + 3y + 1)dx + (3x + 2y +
1)dy = 0 

(B) (4x + 4y + 1)dx + (3x + 2y +
10)dy = 0 

(C) (4x + 5y + 1)dx + (3x + 2y +
1)dy = 0  

(D) (4x + 5y + 1)dx + (3x + 5y +
10)dy = 0 

49. Solution of the differential 
equation (x + y + 1)dy = dx is :  
(A)   x + y + 1 = ce୷  
(B) x + y + 3 = ce୶ 
(C) x + y + 2 = ce୷ 
(D) None of these  

 49. nh xbZ foHksnd lehdj.k dk lek/kku 

(x + y + 1)dy = dx gksxk % 

(A)   x + y + 1 = ce୷  
(B) x + y + 3 = ce୶ 
(C) x + y + 2 = ce୷ 

(D) buesa ls dksbZ ugha 

50. Solution of differential equation 
pଶ + 7p + 12 = 0 is :  
(A)   xଶ − 7y + 12 = 0 
(B) yଶ − 7x + 12 = 0 
(C) (y − 4x + c)(y − 3x + c) = 0  
(D) (x − 4y + c)(y − 3x + c) = 0   

 50. nh xbZ foHksnd lehdj.k dk lek/kku pଶ +

7p + 12 = 0 gksxk % 

(A)   xଶ − 7y + 12 = 0 
(B) yଶ − 7x + 12 = 0 
(C) (y − 4x + c)(y − 3x + c) = 0  
(D) (x − 4y + c)(y − 3x + c) = 0 
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51. Solution of Clairaut’s form y =

px + a log p is :   

(A)   p = c 

(B) p = −c 

(C) y = cx + a log c  

(D) None of these  

 51. nh xbZ DySjkWV~l QkWeZ dk lek/kku y =

px + a log p gksxk % 

(A)   p = c 

(B) p = −c 

(C) y = cx + a log c 

(D) buesa ls dksbZ ugha 

52. Which of the following is 

Clairaut’s equation ?  

(A)   y = px + f(p) 

(B) x = py + f(p) 

(C) y = xf(x) + F(p)  

(D) y = f(x, p)   

 52. fuEufyf[kr esa ls dkSu lh DySjkWV~l 

lehdj.k gSa \ 

(A)   y = px + f(p) 

(B) x = py + f(p) 

(C) y = x f(x) + F(p)  

(D) y = f(x, p)   

53. Which of the following is the 
Clairaut’s equation ?  
(A)   x = py + f(p) 
(B) y = px + f(c) 
(C) y = px + f(p)  
(D) y = xଶ + c   

 53. fuEufyf[kr esa ls dkSu lh DySjkWV~l 

lehdj.k gS \ 

(A)   x = py + f(p) 
(B) y = px + f(c) 
(C) y = px + f(p)  
(D) y = xଶ + c 

54. Solution of the differential 

equation y = px + ୟ
୮
  is : 

(A)   x + y = c 

(B) y = cx + ୟ
ୡ
 

(C) y = xଶ + ୟ
୶
 

(D) y = xy + ୟ
୷
  

 54. nh xbZ foHksnd lehdj.k dk lek/kku y =

px + ୟ
୮
 gksxk % 

(A)   x + y = c 

(B) y = cx + ୟ
ୡ
 

(C) y = xଶ + ୟ
୶
 

(D) y = xy + ୟ
୷
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55. Differential equation of the form 

y = xf(p) + ϕ(p) is :  

(A)   Bernoulli’s equation 

(B) Lagrange’s equation 

(C) Clairaut’s equation 

(D) None of these 

 55. nh xbZ foHksnd lehdj.k dk QkWeZ y =

x f(p) + ϕ(p) gksxk % 

(A) cjukSyh lehdj.k 

(B) ySxzsat lehdj.k 

(C) DySjkWV~l lehdj.k 

(D) buesa ls dksbZ ugha 

56. Singular solution of differential 

equation y = px + ଵ
୮
 is :  

(A)   y = cx + ଵ
ୡ
 

(B) yଶ − 4x = 0 

(C) yଶ − 2x = 0 

(D) None of these  

 56. nh xbZ foHksnd lehdj.k dk ,dek= 

lek/kku y = px + ଵ
୮
 gksxk % 

(A)   y = cx + ଵ
ୡ
 

(B) yଶ − 4x = 0 

(C) yଶ − 2x = 0 

(D) buesa ls dksbZ ugha 

57. The differential equation of the 

form y = p(x) + f(p) is known as:  

(A)   Euler’s equation 

(B) Clairaut’s equation 

(C) Lagrange’s equation 

(D) Cauchy’s equation 

 57. nh xbZ foHksnd lehsdj.k ftldk QkWeZ y =

p(x) + f(p) gks] mls dgrs gS % 

(A) ;wyj lehdj.k 

(B) DySjkWV~l lehdj.k 

(C) ySxzsat lehdj.k 

(D) dkSph lehdj.k 
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58. Solution of the equation, 

yଶ log y = xyp + pଶ : 

(A)   log y = cx + xଶ 

(B) log y = cxଶ + e୶ 

(C) log x = cy + yଶ  

(D) None of these   

 58. 

 

 

nh xbZ lehdj.k dk lek/kku yଶ log y =

xyp + pଶ gS % 

(A)   log y = cx + xଶ 

(B) log y = cxଶ + e୶ 

(C) log x = cy + yଶ 

(D) buesa ls dksbZ ugha 

59. Solution of the differential 

equation y = px + ୟ
୮
  is : 

(A)   y = cx + ୟ
ୡ
 

(B) y = cxଶ + ୟ
୶మ

 

(C) y = cxଶ + ୟ
୶
  

(D) y = cxସ + ୟ
୶
 

 59. nh xbZ foHksnd lehdj.k dk lek/kku y =

px + ୟ
୮
 gksxk % 

(A)   y = cx + ୟ
ୡ
 

(B) y = cxଶ + ୟ
୶మ

 

(C) y = cxଶ + ୟ
୶
  

(D) y = cxସ + ୟ
୶
 

60. Find the singular solution of y =

px + ୟ
୮
 :  

(A)   y = 4axଶ 
(B) y = 4axଷ 
(C) yଶ = 4ax  
(D) yଶ = 4axଶ  

 60. fuEufyf[kr lehdj.k dk ,dek= lek/kku 

y = px + ୟ
୮
  D;k gksxk \ 

(A)   y = 4axଶ 
(B) y = 4axଷ 
(C) yଶ = 4ax  
(D) yଶ = 4axଶ 

61. What is the order, degree and 

solution of the differential 

equation p = log(px − y) ?    

(A)   1, 1, y = cx − eୡ 

(B) 1, 2, y = eୡ − cx 

(C) 1, undefined, y = cx − eୡ  

(D) Undefined, 1, y = cx − eୡ 

 61. fuEufyf[kr foHksnd lehdj.k dk Øe] fMxzh 

vkSj lek/kku D;k gksxk \ 

p = log(px − y) 

(A)   1, 1, y = cx − eୡ 

(B) 1, 2, y = eୡ − cx 

(C) 1, vifjHkkf”kr, y = cx − eୡ  

(D) vifjHkkf”kr, 1, y = cx − eୡ 
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62. Solution of the equation y =

x ቀୢ୷
ୢ୶
ቁ + ቀୢ୷

ୢ୶
ቁ
ଶ
 is :  

(A)   y = cx + cଶ 

(B) y = cxଶ + cଶ 

(C) y = cxଷ + cଶ  

(D) y = cxସ + cଶ   

 62. nh xbZ lehdj.k dk lek/kku y =

x ቀୢ୷
ୢ୶
ቁ + ቀୢ୷

ୢ୶
ቁ
ଶ
 gksxk % 

(A)   y = cx + cଶ 

(B) y = cxଶ + cଶ 

(C) y = cxଷ + cଶ  

(D) y = cxସ + cଶ 

63. For what value of z, the 

differential equation z = px + p −

pଶ will transform into a Clairaut’s 

equation ?  

(A)   ଵ
ଷ

y 

(B) ଵ
ଶ

y 

(C) y  

(D) 2y   

 63. z ds fdl ewY; ds fy,] foHksnd lehdj.k 

z = px + p − pଶ DySjkWV~l lehdj.k esa 

cny ldrk gS \ 

(A)   ଵ
ଷ

y 

(B) ଵ
ଶ

y 

(C) y  

(D) 2y 

64. Orthogonal trajectories of the 

family of rectangular hyperbolas 

xy = cଶ is :  

(A)   yଶ − xଶ = kଶ 

(B) xଶ + yଶ = kଶ 

(C) x + y = c  

(D) None of these  

 64. vk;rkdkj vfrijoy; ds ifjokj dk 

vksFkksZxksuy iz{ksioØ xy = cଶ gksxk % 

(A)   yଶ − xଶ = kଶ 

(B) xଶ + yଶ = kଶ 

(C) x + y = c 

(D) buesa ls dksbZ ugha 
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65. Orthogonal trajectories of xy = hଶ 

are :  

(A)   xଶ + yଶ = aଶ 

(B) xଶ + 2yଶ = aଶ 

(C) xଶ − yଶ = aଶ  

(D) xଶ − 2yଶ = aଶ   

 65. xy = hଶ dk vksFkksZxksuy iz{ksioØ gksxk % 

(A)   xଶ + yଶ = aଶ 

(B) xଶ + 2yଶ = aଶ 

(C) xଶ − yଶ = aଶ  

(D) xଶ − 2yଶ = aଶ 

66. Orthogonal trajectories of y = axଶ 
are :  
(A)   xଶ + yଶ = cଶ 
(B) xଶ + 2yଶ = cଶ 
(C) yଶ − xଶ = cଶ  
(D) xଶ − 2yଶ = cଶ   

 66. y = axଶ dk vksFkksZxksuy iz{ksioØ gksxk % 

(A)   xଶ + yଶ = cଶ 

(B) xଶ + 2yଶ = cଶ 

(C) yଶ − xଶ = cଶ  

(D) xଶ − 2yଶ = cଶ 

67. The orthogonal trajectories of one 
parameter family xଶ + yଶ = cଶ are 
given by : 
(A)   y = ax 
(B) yଶ = ax 
(C) y = axଶ 
(D) yଶ = axଶ  

 67. vksFkksZxksuy iz{ksioØ dk ,d iSjkehVj ifjokj 

xଶ + yଶ = cଶ fn;k tk ldrk gS % 

(A)   y = ax 

(B) yଶ = ax 

(C) y = axଶ 

(D) yଶ = axଶ 

68. Roots of auxiliary equation of 

differential equation ୢమ୷
ୢ୶మ

− 3 ୢ୷
ୢ୶

=

0  are :  

(A)   0, 3 

(B) –1, – 4    

(C) –1, 4  

(D) 1, – 4 

 68. nh xbZ foHksnd lehdj.k ୢ
మ୷

ୢ୶మ
− 3 ୢ୷

ୢ୶
= 0 

dh lgk;d :V~l gksxh % 

(A)   0, 3 

(B) –1, – 4    

(C) –1, 4  

(D) 1, – 4 
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69. General solution of differential 

equation  ୢ
మ୷

ୢ୶మ
− y = 0 is : 

(A)   y = e୶ 
(B) y = eି୶ 
(C) y = ae୶ + beି୶  
(D) None of these   

 69. nh xbZ foHksnd lehdj.k dk lkekU; 

lek/kku ୢ
మ୷

ୢ୶మ
− y = 0 gksxk % 

(A)   y = e୶ 
(B) y = eି୶ 
(C) y = ae୶ + beି୶ 
(D) buesa ls dksbZ ugha  

70. The value of ଵ
ୈమାୟమ

cos ax is :  

(A)   ି୶
ଶୟ

cos ax 

(B) ୶
ଶୟ

sin ax 

(C) ି୶
ଶୟ

sin ax 

(D) ୶
ଶୟ

cos ax  

 70. ଵ
ୈమାୟమ

cos ax dk eku gksxk % 

(A)   ି୶
ଶୟ

cos ax 

(B) ୶
ଶୟ

sin ax 

(C) ି୶
ଶୟ

sin ax 

(D) ୶
ଶୟ

cos ax 

71. P.I. of the differential equation 
(Dଷ + aଶD)y = sin ax is :  

(A)   ୶
ଶୟమ

cos ax 

(B) ି୶
ଶୟమ

cos ax 

(C) ୶
ଶୟమ

sin ax  

(D) ି୶
ଶୟమ

sin ax   

 71. nh xbZ foHksnd lehdj.k dk P.I. 

(Dଷ + aଶD)y = sin ax gksxk % 

(A)   ୶
ଶୟమ

cos ax 

(B) ି୶
ଶୟమ

cos ax 

(C) ୶
ଶୟమ

sin ax  

(D) ି୶
ଶୟమ

sin ax 

72. The particular integral of the 

differential equation (Dଶ + 1)y =

cos x is :  

(A)   ଵ
ଶ

sin x 

(B) ି୶
ଶ

sin x 

(C) ୶
ଶ

sin x  

(D) ୶
ଶ

cos x   

 72. nh xbZ foHksnd lehdj.k (Dଶ + 1)y =

cos x dk fo’ks”k vfHkUu gksxk % 

(A)   ଵ
ଶ

sin x 

(B) ି୶
ଶ

sin x 

(C) ୶
ଶ

sin x  

(D) ୶
ଶ

cos x 
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73. Solution of the differential 

equation ୢ
మ୷

ୢ୶మ
− 4 ୢ୷

ୢ୶
+ 4y = 0 is :  

(A)   y = (cଵ + cଶx)eହ୶ 

(B) y = (cଵ + cଶx)eସ୶ 

(C) y = (cଵ + cଶx)eଷ୶  

(D) y = (cଵ + cଶx)eଶ୶   

 73. nh xbZ foHksnd lehdj.k dk lek/kku 

ୢమ୷
ୢ୶మ

− 4 ୢ୷
ୢ୶

+ 4y = 0 gksxk % 

(A)   y = (cଵ + cଶx)eହ୶ 

(B) y = (cଵ + cଶx)eସ୶ 

(C) y = (cଵ + cଶx)eଷ୶  

(D) y = (cଵ + cଶx)eଶ୶ 

74. Particular integral of (Dଶ + D−

6)y = x is :  

(A)   ିଵ
ଷ଺

(6x + 1) 

(B) ଵ
ଷ଺

(6xଶ + 1) 

(C) ଵ
ଷ଺

(6xଷ + 1) 

(D) ଵ
ଷ଺

(6xସ + 1)  

 74. (Dଶ + D − 6)y = x dk fo’ks”k vfHkUu 

gksxk % 

(A)   ିଵ
ଷ଺

(6x + 1) 

(B) ଵ
ଷ଺

(6xଶ + 1) 

(C) ଵ
ଷ଺

(6xଷ + 1) 

(D) ଵ
ଷ଺

(6xସ + 1) 

75. Particular integral of the (Dଶ +

2D + 1)y = 2x + xଶ is :  

(A)   xଶ − 2x + 2 

(B) xଷ − 2x + 2 

(C) xସ − 2x + 2  

(D) xହ − 2x + 2  

 75. (Dଶ + 2D + 1)y = 2x + xଶ dk fo’ks”k 

vfHkUu gksxk % 

(A)   xଶ − 2x + 2 

(B) xଷ − 2x + 2 

(C) xସ − 2x + 2  

(D) xହ − 2x + 2 
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76. The C.F. of differential equation 

xଶ ୢ
మ୷

ୢ୶మ
+ x ୢ୷

ୢ୶
− y = xଶe୶ is :  

(A)   cଵx + cଶxିଵ 

(B) cଵe୶ + cଶeି୶ 

(C) cଵe୶మ + cଶeି୶మ  

(D) None of these  

 76. nh xbZ foHksnd lehdj.k dk C.F. 

xଶ ୢ
మ୷

ୢ୶మ
+ x ୢ୷

ୢ୶
− y = xଶe୶ gksxk % 

(A)   cଵx + cଶxିଵ 

(B) cଵe୶ + cଶeି୶ 

(C) cଵe୶మ + cଶeି୶మ 

(D) buesa ls dksbZ ugha 

77. C. F. of the differential equation 

xଶ ୢ
మ୷

ୢ୶మ
+ cଵx ୢ୷

ୢ୶
+ 2y = e୶ is :  

(A)   cଵ + cଶx 
(B) cଵxିଵ + cଶxିଶ 
(C) cଵeି୶ + cଶe୶  
(D) None of these  

 77. nh xbZ foHksnd lehdj.k dk C. F. 

xଶ ୢ
మ୷

ୢ୶మ
+ cଵx ୢ୷

ୢ୶
+ 2y = e୶ gksxk % 

(A)   cଵ + cଶx 
(B) cଵxିଵ + cଶxିଶ 
(C) cଵeି୶ + cଶe୶ 

(D) buesa ls dksbZ ugha 

78. The P.I. of differential equation 
(D. E.) (Dଶ + 1)y = cos x is : 

(A)   ଵ
ଶ

sin x 

(B) ଵ
ଶ

x cos x 

(C) ିଵ
ଶ

x sin x  

(D) ଵ
ଶ

x sin x   

 78. nh xbZ foHksnd lehdj.k dk P.I. 

(Dଶ + 1)y = cos x gksxk % 

(A)   ଵ
ଶ

sin x 

(B) ଵ
ଶ

x cos x 

(C) ିଵ
ଶ

x sin x  

(D) ଵ
ଶ

x sin x   

79. The complementary function of 

xଶ ୢ
మ୷

ୢ୶మ
− 4x ୢ୷

ୢ୶
+ 6y = x is :  

(A)   cଵxଶ + cଶxଷ  

(B) cଵxଷ + cଶxସ 

(C) cଵxସ + cଶxହ  

(D) cଵxହ + cଶx଺   

 79. nh xbZ lehdj.k dk iwjd dk;Z xଶ ୢ
మ୷

ୢ୶మ
−

4x ୢ୷
ୢ୶

+ 6y = x gksxk % 

(A)   cଵxଶ + cଶxଷ  

(B) cଵxଷ + cଶxସ 

(C) cଵxସ + cଶxହ  

(D) cଵxହ + cଶx଺ 
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80. The complementary function of 

xଶ ୢ
మ୷

ୢ୶మ
+ 4x ୢ୷

ୢ୶
+ 2y = e୶ is :  

(A)   cଵ + cଶx 
(B) cଵxିଵ + cଶxିଶ 
(C) cଵxିଶ + cଶxିଷ 
(D) cଵxିଷ + cଶxିସ  

 80. nh xbZ lehdj.k dk iwjd dk;Z xଶ ୢ
మ୷

ୢ୶మ
+

4x ୢ୷
ୢ୶

+ 2y = e୶ gksxk % 

(A)   cଵ + cଶx 
(B) cଵxିଵ + cଶxିଶ 
(C) cଵxିଶ + cଶxିଷ 
(D) cଵxିଷ + cଶxିସ 

81. Which of the following is a 

Cauchy’s linear equation ?  

(A) xଶ ୢ
మ୷

ୢ୶మ
− 3x ୢ୷

ୢ୶
+ 4y = 2xଶ 

(B) ୢమ୷
ୢ୶మ

− 7 ୢ୷
ୢ୶
− 6y = (1 + x)eଶ୶ 

(C) ୢర୷
ୢ୶ర

− mସy = 0  

(D) (Dଶ + 4)y = cos 2x   

 81. fuEufyf[kr esa ls dkSu lh dkWph js[kh; 

lehdj.k gS \ 

(A) xଶ ୢ
మ୷

ୢ୶మ
− 3x ୢ୷

ୢ୶
+ 4y = 2xଶ 

(B) ୢమ୷
ୢ୶మ

− 7 ୢ୷
ୢ୶
− 6y = (1 + x)eଶ୶ 

(C) ୢర୷
ୢ୶ర

− mସy = 0  

(D) (Dଶ + 4)y = cos 2x 

82. C.F. of the equation ݔଶ ௗ
మ௬

ௗ௫మ
−

ݔ ௗ௬
ௗ௫

+ ݕ = 2 log   : is ݔ

(A) (ܿଵ + ܿଶݔ) log  ݔ
(B) (ܿଵݔ + ܿଶ) log  ݔ
(C) (ܿଵ + ܿଶ log   e୶(ݔ
(D) ݔ(ܿଵ + ܿଶ log   (ݔ

 82. nh xbZ lehdj.k ݔଶ ௗ
మ௬

ௗ௫మ
− ݔ ௗ௬

ௗ௫
+ ݕ =

2 log  \ dk C.F. D;k gksxk ݔ
(A) (ܿଵ + ܿଶݔ) log  ݔ
(B) (ܿଵݔ + ܿଶ) log  ݔ
(C) (ܿଵ + ܿଶ log   e୶(ݔ
(D) ݔ(ܿଵ + ܿଶ log  (ݔ

83. Solution of the differential 

equation xଶ ୢ
మ୷

ୢ୶మ
− x ୢ୷

ୢ୶
+ 2y = x log x 

is :  
(A) y = e୶(cଵ cos x + cଶ sin x) +

xe୶ 
(B) ݕ = ଵܿ]ݔ cos(log (ݔ + ܿଶ sin 

(log [(ݔ + ݔ log  ݔ
(C) ݕ = ଵܿ]ݔ cos(log (ݔ + ܿଶ sin 

(log [(ݔ +  ௫݁ݔ
(D) None of the above   

 83. nh xbZ varj lehdj.k xଶ ୢ
మ୷

ୢ୶మ
− x ୢ୷

ୢ୶
+

2y = x log x dk lek/kku D;k gksxk \ 

(A) y = e୶(cଵ cos x + cଶ sin x) + xe୶ 
(B) ݕ = ଵܿ]ݔ cos(log (ݔ + ܿଶ sin 

(log [(ݔ + ݔ log  ݔ
(C) ݕ = ଵܿ]ݔ cos(log (ݔ + ܿଶ sin 

(log [(ݔ +  ௫݁ݔ
(D) buesa ls dksbZ ugha 
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84. Solution of the equation ݕ = ݔ݌ +

1)݌ܽ −   : is (݌

(A) ݕ = ଶݔܿ + ܽܿ(1 + ܿ) 

(B) ݕ = ଷݔܿ + ܽܿ(1 − ܿ) 

(C) ݕ = ଶݔܿ + ܽܿ(1 − ܿ)  

(D) ݕ = ݔܿ + ܽܿ(1 − ܿ)   

 84. nh xbZ lehdj.k dk lek/kku D;k gksxk 

ݕ = ݔ݌ + 1)݌ܽ −  % (݌

(A) ݕ = ଶݔܿ + ܽܿ(1 + ܿ) 

(B) ݕ = ଷݔܿ + ܽܿ(1 − ܿ) 

(C) ݕ = ଶݔܿ + ܽܿ(1 − ܿ)  

(D) ݕ = ݔܿ + ܽܿ(1 − ܿ) 

85. Find the singular solution of ݕଶ −

ݕݔ݌2 + ଶݔ)ଶ݌ − 1) = ݉ଶ :  

(A) ݕଶ + ݉ଶݔଶ = ݉ଶ  

(B) ݕଶ + ݉ଶݔଷ = ݉ଶ 

(C) ݕଷ + ݉ଶݔଷ = ݉ଶ  

(D) ݕସ + ݉ଶݔଷ = ݉ଶ   

 85. nh xbZ lehdj.k ݕଶ − ݕݔ݌2 +

ଶݔ)ଶ݌ − 1) = ݉ଶ dk flaxqyj lek/kku 

D;k gksxk % 

(A) ݕଶ + ݉ଶݔଶ = ݉ଶ  
(B) ݕଶ + ݉ଶݔଷ = ݉ଶ 
(C) ݕଷ + ݉ଶݔଷ = ݉ଶ  
(D) ݕସ + ݉ଶݔଷ = ݉ଶ 

86. Differential equation ݕ = ݔ݌2 +

  : is (ଶ݌ݔ)݂

(A) Clairaut’s equation 

(B) Solvable for p 

(C) Solvable for x  

(D) Solvable for y   

 86. varj lehdj.k ݕ = ݔ݌2 +  %gksxh (ଶ݌ݔ)݂

(A) DySjV~l lehdj.k 

(B) p ds fy, O;k[;kfdr 

(C) x ds fy, O;k[;kfdr  

(D) y ds fy, O;k[;kfdr 

87. Singular solution of differential 

equation ݕ = ݔ݌ −   : ଶ is݌

(A) ݔଶ − ݕ4 = 0   

(B) ݕଶ − ݔ4 = 0 

(C) ݕݔ = 4  

(D) ݔ + ݕ = 4   

 87. nh xbZ varj lehdj.k ݕ = ݔ݌ −  ଶ dk݌

flaxqyj lek/kku gksxk % 

(A) ݔଶ − ݕ4 = 0   

(B) ݕଶ − ݔ4 = 0 

(C) ݕݔ = 4  

(D) ݔ + ݕ = 4 
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88. Singular solution of the differential 

equation ݕ = ݔ݌ + ௔
௣
 is :  

(A) ݕ = ݔܽ + ௔
௖
 

(B) ݕଶ =  ݔ4ܽ

(C) ݕଶ − ଶݔ = ܽଶ  

(D) None of these   

 88. nh xbZ varj lehdj.k ݕ = ݔ݌ + ௔
௣
 dk 

flaxqyj lek/kku D;k gksxk % 

(A) ݕ = ݔܽ + ௔
௖
 

(B) ݕଶ =  ݔ4ܽ

(C) ݕଶ − ଶݔ = ܽଶ 

(D) buesa ls dksbZ ugha 

89. Solution of the equation 

sin px cos y − cos px sin y = p is :  

(A) ݕ = ݔܿ − cosିଵ ܿ 

(B) ݕ = ݔܿ − sinିଵ ܿ 

(C) ݕ = ݔܿ − tanିଵ ܿ  

(D) ݕ = ݔܿ − cosecିଵ ܿ   

 89. nh xbZ lehdj.k sin px cos y −

cos px sin y = p dk lek/kku gksxk % 

(A) ݕ = ݔܿ − cosିଵ ܿ 

(B) ݕ = ݔܿ − sinିଵ ܿ 

(C) ݕ = ݔܿ − tanିଵ ܿ  

(D) ݕ = ݔܿ − cosecିଵ ܿ 

90. Singular solution of differential 

equation ݌ = log(ݔ݌ −    : is (ݕ

(A) ݕ = ݔ log ݔ −  ݔ

(B) ݕ = logݔ 

(C) ݕ = ݕ log ݔ −   ݔ

(D) ݕ = ݔ log    ݔ

 90. nh xbZ lehdj.k ݌ = log(ݔ݌ −  dk (ݕ

flaxqyj lek/kku gksxk % 

(A) ݕ = ݔ log ݔ −  ݔ

(B) ݕ = logݔ 

(C) ݕ = ݕ log ݔ −   ݔ

(D) ݕ = ݔ log  ݔ

91. To solve the differential equation 
ݕ = ,ݔ)݂   : we shall (݌
(A) Differentiate w.r.t. y 
(B) Differentiate w.r.t. x 
(C) Differentiate w.r.t. p  
(D) None of these  

 91. nh xbZ varj lehdj.k ݕ = ,ݔ)݂  dks (݌

Kkr djus ds fy,] gesa djuk gksxk % 

(A) Differentiate w.r.t. y 
(B) Differentiate w.r.t. x 
(C) Differentiate w.r.t. p 
(D) buesa ls dksbZ ugha 
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92. The integrating factor of ௗ௫
ௗ௬

+

ݔ(ݕ)ܲ =   : is (ݕ)ܳ

(A) ݁∫ ௉ ௗ௬ 

(B) ݁∫ ௉ ௗ௫ 

(C) ݁∫ ொ ௗ௫ 

(D) ݁ି∫ ௉ ௗ௫   

 92. ௗ௫
ௗ௬

+ ݔ(ݕ)ܲ =  dk bafVxzsfVax (ݕ)ܳ

QSDVj gS % 

(A) ݁∫ ௉ ௗ௬ 

(B) ݁∫ ௉ ௗ௫ 

(C) ݁∫ ொ ௗ௫ 

(D) ݁ି∫ ௉ ௗ௫ 

93. Which of the following equations 
is exact ?  
(A) (xଶ − aସy)dx − (ax − yଶ)dy 

= 0 
(B) (xଶ − ay)dx − (aଷx − yଶ)dy 

= 0 
(C) (xଶ − ܽy)dx − (aଶx − yଶ)dy 

= 0  
(D) (xଶ − ܽy)dx − (ax − yଶ)dy 

= 0   

 93. nh xbZ fuEu lehdj.kksa esa dkSu lh ,dlSDV 

gS \ 

(A) (xଶ − aସy)dx − (ax − yଶ)dy =
0 

(B) (xଶ − ay)dx − (aଷx − yଶ)dy =
0 

(C) (xଶ − ܽy)dx − (aଶx − yଶ)dy =
0  

(D) (xଶ − ܽy)dx − (ax − yଶ)dy =
0 

94. Solution of the differential 

equation ቀy − x ୢ୷
ୢ୶
ቁ = a ቀyଶ + ୢ୷

ୢ୶
ቁ 

is :  
(A) ݕ = ܿ(ܽ + 1)(ݔ −  (ݕܽ
(B) ݕ = ܿ(ܽ − 1)(ݔ +  (ݕܽ
(C) ݕ = ܿଶ(ܽ + 1)(ݔ −   (ݕܽ
(D) ݕ = ܿଶ(ܽ − 1)(ݔ +    (ݕܽ

 94. nh xbZ varj lehdj.k dk lek/kku gksxk % 

ቀy − x ୢ୷
ୢ୶
ቁ = a ቀyଶ + ୢ୷

ୢ୶
ቁ 

(A) ݕ = ܿ(ܽ + 1)(ݔ −  (ݕܽ
(B) ݕ = ܿ(ܽ − 1)(ݔ +  (ݕܽ
(C) ݕ = ܿଶ(ܽ + 1)(ݔ −   (ݕܽ
(D) ݕ = ܿଶ(ܽ − 1)(ݔ +  (ݕܽ

95. What is the order of the 
differential equation ? 
ୢర୷
ୢ୶ర

− 3ቀୢ
య୷

ୢ୶య
ቁ
ଶ

+ 4 ୢమ୷
ୢ୶మ

− 5 ୢ୷
ୢ୶

+ 6y = 0   

(A) 3 
(B) 6 
(C) 4  
(D) 2   

 95. nh xbZ varj lehdj.k dk vkWMj D;k gksxk\ 
dସy
dxସ

− 3ቆ
dଷy
dxଷ

ቇ
ଶ

+ 4
dଶy
dxଶ

− 5
dy
dx

+ 6y = 0 

(A) 3 
(B) 6 
(C) 4  
(D) 2 
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96. Solution of cos(x + y) dy = dx is:  
(A) ݕ = ܿ + log ଵ

ଶ
ݔ) +  (ݕ

(B) ݕ = ܿ + cot ݔ)2 +  (ݕ
(C) ݕ = ܿ + tan ଵ

ଶ
ݔ) +   (ݕ

(D) ݕ = ܿ + sin ݔ)2 +    (ݕ

 96. cos(x + y) dy = dx dk lek/kku gksxk % 

(A) ݕ = ܿ + log ଵ
ଶ

ݔ) +  (ݕ
(B) ݕ = ܿ + cot ݔ)2 +  (ݕ
(C) ݕ = ܿ + tan ଵ

ଶ
ݔ) +   (ݕ

(D) ݕ = ܿ + sin ݔ)2 +  (ݕ
97. The order and degree of the 

differential equation ௗమ௬
ௗ௫మ

=

൜1 + ቀௗ௬
ௗ௫
ቁ
ଶ
ൠ
ଷ
ଶൗ
   

(A) 3, 3 
(B) 2, 2 
(C) 3, 2 
(D) 2, 3  

 97. nh xbZ varj lehdj.k ௗమ௬
ௗ௫మ

=

൜1 + ቀௗ௬
ௗ௫
ቁ
ଶ
ൠ
ଷ
ଶൗ
 dk vkWMj vkSj fMxzh D;k 

gksxk % 
(A) 3, 3 
(B) 2, 2 
(C) 3, 2 
(D) 2, 3 

98. I.F. of the differential equation 
(1 + xy)y dx + (1 − xy)x dy = 0 
is :  
(A) ଵ

௫௬
 

(B) ଵ
௫௬మ

 

(C) ଵ
௫మ௬

 

(D) ଵ
௫మ௬మ

   

 98. nh xbZ varj lehdj.k dk I.F.gksxk % 
(1 + xy)y dx + (1 − xy)x dy = 0 

(A) ଵ
௫௬

 

(B) ଵ
௫௬మ

 

(C) ଵ
௫మ௬

 

(D) ଵ
௫మ௬మ

 

99. Solution of (xଶ + yଶ)dx − 2xy  
dy = 0 is :  
(A) x − yଶ = cxଶ  
(B) xଶ − yଶ = cx 
(C) xଶ − yଶ = cxଶ 
(D) x − y = cx   

 99. (xଶ + yଶ)dx − 2xy dy = 0 dk lek/kku 
gksxk % 
(A) x − yଶ = cxଶ  
(B) xଶ − yଶ = cx 
(C) xଶ − yଶ = cxଶ 
(D) x − y = cx 

100. Solution of the differential 
equation (1 + ݔ݀ ݕ(ݔ + (1 −  ݔ(ݕ
ݕ݀ = 0 is : 
(A) ݔଶݕଶ = ܿ݁௬ି௫ 
(B) ݕݔ = ܿ݁௬ି௫ 
(C) ݕݔଶ = ܿ݁௬ି௫  
(D) ݔଶݕ = ܿ݁௬ି௫ 

 100. nh xbZ varj lehdj.k dk lek/kku D;k 
gksxk (1 + x)y dx + (1 − y)x dy = 0: 
(A) ݔଶݕଶ = ܿ݁௬ି௫ 
(B) ݕݔ = ܿ݁௬ି௫ 
(C) ݕݔଶ = ܿ݁௬ି௫  
(D) ݔଶݕ = ܿ݁௬ି௫ 

****** 
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DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO 

1. Examinee should enter his / her roll number, subject and Question Booklet 

Series correctly in the O.M.R. sheet, the examinee will be responsible for 

the error he / she has made. 

2. This Question Booklet contains 100 questions, out of which only 75 

Question are to be Answered by the examinee. Every question has 4 

options and only one of them is correct. The answer which seems 

correct to you, darken that option number in your Answer Booklet 

(O.M.R ANSWER SHEET) completely with black or blue ball point 

pen. If any examinee will mark more than one answer of a particular 

question, then the answer will be marked as wrong.   

3. Every question has same  marks. Every question you attempt correctly, 

marks will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R 

ANSWER SHEET).Answer marked anywhere else other than the 

determined place will not be considered valid. 

5. Please read all the instructions carefully before attempting anything on 

Answer Booklet(O.M.R ANSWER SHEET). 

6. After completion of examination, please hand over the O.M.R. SHEET to 

the Examiner before leaving the examination room.   

7. There is no negative marking. 

Note: On opening the question booklet, first check that all the pages of the 

question booklet are printed properly in case there is an issue please ask the 

examiner to change the booklet of same series and get another one. 


